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https://doubtnut.app.link/lkek2J5wfhb
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https://doubtnut.app.link/MVcbJvrhfnb

1. Calculate NDP at FC.

b anm W

a) Num’f”
() ODepreciation

(W) Net Factor income from Abroad
(V) Net indirect taxes

Pt 000
600
300
700

o Watch Video Solution

2. Calculate GDP at MP.

Pa»'TICU/ars e
(l) 'NNP at FCcoUUTTTT e i

(i) Depreciation
| (i) Subsidies ‘
(iv) Factor income from Abroad
/ (v) Indirect Taxes ;
| (vi) Factor Income to Abroad

. Zincrores

2,000
200
70
110
180

50 |

o Watch Video Solution



https://dl.doubtnut.com/l/_1PDYAe0rDlVd
https://dl.doubtnut.com/l/_uFgMXtNcTcGe

1. Calculate Domestic Income or NDP at FC.

Particulars’ Zincrores
(i) GNPatMP £.L
(i) Subsidies ; 200 l
(iii) Depreciation i 100 \
(iv) Net Factor income from abroad 400 \
(v) Indirect tax \ 300

° Watch Video Solution



https://dl.doubtnut.com/l/_uFgMXtNcTcGe
https://dl.doubtnut.com/l/_fem6i7tObHst

2. Calculate National income or NNP at FC .

[ Particutars A ") ginerores |
() GDP at MP : 5,500
(iiy Consumption of Fixed Capital : 300 \
(i)  Goods and Services Tax 120
(iv) Factor income from abroad 150 \
(v) Subsidios 0
(vi) Factor incomo to abroad 250 \

o Watch Video Solution

3. Calculate GNP at FC.

[Partioulars [ €incrores
() NDP at MP 25,000
(i) Depreciation : ‘ 5,000
(iii) Subsidies 30
(iv) Factor income from abroad 400

(v) Factor income to the rest of the world 600 |

° Watch Video Solution



https://dl.doubtnut.com/l/_okiR4fM15viX
https://dl.doubtnut.com/l/_fo8j8QFSWdVb

4. Calculate GNP at MP.

Parloulars™ T | Onorores

) Domesila Income or FIDP T a0
‘() Nepraciation " A
() Indirect Taxas 0
(Iv) Net Factor Incoma 1o ahroad 60

o Watch Video Solution

5. Calculate Consumption of Fixed Capital .

Particulars A
(iy National Income or : !

(i) GDP atMP .} 5000 |
(i) Net Indirect Tax ' ' i 300
(iv) Net Factor income from abroad 1 200

° Watch Video Solution



https://dl.doubtnut.com/l/_fo8j8QFSWdVb
https://dl.doubtnut.com/l/_VNpbiRLL7SDJ
https://dl.doubtnut.com/l/_7jBTnDEfMgT8

6. Calculate Net Indirect Tax.

Particulars ~ Zincrores
T () GNPatmMP™ T T | 7,000
(i) Domestic Income or NDPatFC | 6,200

(iiiy Depreciation 600
(iv) Net Factor income from abroad (-) 400
o Watch Video Solution
7. Calculate Subsidies.
Particulgrs o | tincrores ;
() GNPatFC | 2r7m0
- (i) Consumption of Fixed Capital - 4000 |
(iiy Indirect Taxes 120
(iv) Factor income from abroad 3 400
(v) NDP at MP | 24,000 |
(vi) Factor income to abroad L 600 »E

| &


https://dl.doubtnut.com/l/_7jBTnDEfMgT8
https://dl.doubtnut.com/l/_Kjj1DPAQhxUv
https://dl.doubtnut.com/l/_G4DHUELFK78s

| ' Watch Video Solution

8. Calculate Factor Income to abroad .

@1&1)&@1 “M \ ' A '}' Tincrores
(0 GNP at MP ‘ 4500
(i) Replacement of Fixed Capital | 100 !
(i) Indirect Taxes !] 300 ,
(V) Subsidies L 200
(V) Fagctor Income fromabroad ‘ 700
| (v) NDPatFC L 300

o Watch Video Solution

9. The net domestic product at market price of
an economy is ¥ 4, 500 crores. The capital

stock is worth ¥ 4, 000 crores and it


https://dl.doubtnut.com/l/_G4DHUELFK78s
https://dl.doubtnut.com/l/_eAqEF448Hv8B
https://dl.doubtnut.com/l/_xbLoGXvJoJpU

depcreciates at the rate of 10 % per annum.
Indirect taxes amount to ¥ 150 crores |,
subsidies amout to ¥ 20 crores , factor income
from the rest of the world is ¥ 400 crores and
to rest of the world is ¥ 600 crores . Find out

the gross national product at factor cost.

° Watch Video Solution

10. Calculate (a) Depreciation , (b) Subsidies ,

(c) NDP at FC.

° View Text Solution



https://dl.doubtnut.com/l/_xbLoGXvJoJpU
https://dl.doubtnut.com/l/_iTbHsPq5q7rb

Hots Higher Order Thinking Skills Questions

1. Mention the situations in which following
equations will hold true:

(i) National Income = Domestice Income

(i) GDPpc > GDPyp

(ili) NPpo < NDPpc

(iv) GDPpoc = GDPyp

(v) Domestic Income is greater than National

Income.

° Watch Video Solution



https://dl.doubtnut.com/l/_iTbHsPq5q7rb
https://dl.doubtnut.com/l/_b7ck3sOPizJc

2. Determine the missing items in the
following cases :

(i) GNPpg = GNPyp-?

(ii) 2 = National Income - Domestic Income

(iii) GDPgc = ? + Depreciation

(iv) NDPgrc = 7 - Depreciation - Net Indirect

Tax

o Watch Video Solution

True And False



https://dl.doubtnut.com/l/_b7ck3sOPizJc
https://dl.doubtnut.com/l/_b7NmFzBD8dQb

1. Are the following statements true or false ?
Give reasons .
In a closed economy , gross domestic product

is always equal to gross national product .

o View Text Solution

2. Domestic Income of a country can be more

than its National Income.

° View Text Solution



https://dl.doubtnut.com/l/_JQlOLBNaguV1
https://dl.doubtnut.com/l/_G3YEpqQn9MAL

3. Domestic product includes contribution of
only resident producers within the domestic

territory of the country.

o View Text Solution

Guidelines To Ncert Questions

1. Suppose the GDP at market price of a
country in a particular year was ¥ 1, 100 crores

. Net factor Income from Abroad was ¥ 100


https://dl.doubtnut.com/l/_RLsX9f7QyC6D
https://dl.doubtnut.com/l/_4LF4TCRHSWqu

crores . The value of (Indirect taxes - Subsidies)
was ¥ 150 crores and National Income was ¥
850 crores. Calculate the aggregate value of

depreciation.

o Watch Video Solution

2.1n a single day, Raju , the barber, collects ¥
500 from haircuts , over this day , his
equipment depreciates in value by ¥ 50 . Of
the remaining ¥ 450 , Raju pays indirect tax

worth ¥ 30 , takes home ¥ 200 and retains ¥


https://dl.doubtnut.com/l/_4LF4TCRHSWqu
https://dl.doubtnut.com/l/_Z67tFdvf0meQ

220 for improvement and buying of new
equipment . He further pays ¥ 20 as income
tax from his income . Based on this
information , complete Raju's contribution to
the following measures of income (a) Gross
Domestic Product (b) NNP at market price (c)

NNP at factor cost.

o Watch Video Solution

Revision Exercise Multiple Choice Questions



https://dl.doubtnut.com/l/_Z67tFdvf0meQ

1. Out of the following , which aggregate

represents 'National income ' ?

A. NNPyp

B. GN Ppe

C. NNPpe

D. GNPy p

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_N7LUdJD34Uyc
https://dl.doubtnut.com/l/_kA26TgP9aKjY

2. If factor income received from abroad is
equal to factor income paid abroad , then

which of the following is not a valid statement

?

A. National Income = Domestic Income

B. ND Pr + Depreciation = GN P

C. ND Pr¢ + Depreciation = GNPy p

D. All are valid

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_kA26TgP9aKjY

3. Fill in the blank

NNPpe — GDPyp

A. + Depreciation - Net factor income
from abroad - Net Indirect taxes

B. + Depreciation + Net factor income
from abroad + Net Indirect taxes

C. + Depreciation - Net factor income

from abroad + Net Indirect taxes


https://dl.doubtnut.com/l/_kA26TgP9aKjY
https://dl.doubtnut.com/l/_ViqrItstv1oU

D. + Depreciation + Net factor income

from abroad - Net Indirect taxes

Answer: C

o View Text Solution

4. If economic subsidies are added to and
indirect taxes are subtracted from the
national income at market prices , then it will

be equal to :


https://dl.doubtnut.com/l/_ViqrItstv1oU
https://dl.doubtnut.com/l/_h63pfpBXeUFK

A. Domestic Income

B. National Income

C. Gross national product at market prices

D. Gross domestic product at factor cost

Answer: B

o View Text Solution

5. Which of the following is not a component

of operating surplus ?


https://dl.doubtnut.com/l/_h63pfpBXeUFK
https://dl.doubtnut.com/l/_OkoMoLknOU9j

A. Interest

B. Rent

C. Royality

D. Compensation of Employees

Answer: D

o View Text Solution

6.In which type of economy, domestic income

is equal to national income ?


https://dl.doubtnut.com/l/_OkoMoLknOU9j
https://dl.doubtnut.com/l/_JVC1cvHIRi6A

A. Open Economy

B. Closed Economy

C. Both (a) and (b)

D. Neither (a) nor (b)

Answer: B

o View Text Solution

7. Domestic factor income is another name for


https://dl.doubtnut.com/l/_JVC1cvHIRi6A
https://dl.doubtnut.com/l/_eulvQ6wyRHrw

A. ND Py

B. NNPyp

C. GD Py

D. NN Py

Answer: A

o View Text Solution

8. Net domestic product at factor cost is less

than national income when :


https://dl.doubtnut.com/l/_eulvQ6wyRHrw
https://dl.doubtnut.com/l/_2xm9f8EJnCz7

A.Net factor income from abroad is

positive

B. Net factor income from abroad is

negative

C. Net factor income from abroad is zero

D. Net exports are positive

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_2xm9f8EJnCz7

9. National income is equal to :

A. Domestic product plus factor incomes

earned from abroad

B. Domestic product plus net factor

incomes earned from abroad

C. Domestic product minus factor incomes

to abroad

D. Domestic product plus export minus

imports


https://dl.doubtnut.com/l/_gOvOVIcPwPGl

Answer: B

o View Text Solution

10. If net national products is given at Market

Prices , we indirect taxes and

subsidies to get National income of the

economy.

A. Add , Subtract

B. Add , Divide

C. Subtract , Add


https://dl.doubtnut.com/l/_gOvOVIcPwPGl
https://dl.doubtnut.com/l/_iFdCk2cDmUC7

D. Subtract, Divide

Answer: C

° View Text Solution

11. From the following information , compute
GNPMP G.DPFC = ¥ 3, 000 . Net factor
income to abroad =% 200 . Indirect Taxes =%

420, Subsidies =3 240 .

A. 3380


https://dl.doubtnut.com/l/_iFdCk2cDmUC7
https://dl.doubtnut.com/l/_FlkFZTAyF9Zw

B. 2,980

C.3020

D. 2,620

Answer: B

o Watch Video Solution

12. GNP exceeds NNP by :

A. Amount of total taxes

B. Government expenditure


https://dl.doubtnut.com/l/_FlkFZTAyF9Zw
https://dl.doubtnut.com/l/_54pSsOhC1u46

C. Transfer payments

D. Difference between gross and net

investment

Answer: D

o View Text Solution

13. Which of the following flowchart correctly
represents the relationship between Domestic

concepts ?


https://dl.doubtnut.com/l/_54pSsOhC1u46
https://dl.doubtnut.com/l/_209Mkeq3uqvz

GDPye:
(-) Dep )NIT
{NDRyG! {GDPect
(+NIT (+) Dep

{NOPeg!

B. ()

b
) Dep (]

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_209Mkeq3uqvz

Very Short Answer Type Questions

1. Define domestic income
OR

Define domestic product .

o View Text Solution

2. When is the net domestic product at market

price less than the net domestic product at


https://dl.doubtnut.com/l/_209Mkeq3uqvz
https://dl.doubtnut.com/l/_C5f3ZY6AG1Sj
https://dl.doubtnut.com/l/_pztF7IWZG94Z

factor cost ?

o View Text Solution

3. Why is gross domestic product at factor
cost more than the net domestic product at

factor cost ?

o View Text Solution

4. When will GDP of an economy be equal to

GNP?


https://dl.doubtnut.com/l/_pztF7IWZG94Z
https://dl.doubtnut.com/l/_iPt79JceW5JK
https://dl.doubtnut.com/l/_098qkjNuLHTL

° View Text Solution

5. When will the domestic income exceed the

national income ?

o View Text Solution

6. If NDPrq is ¥ 1, 000 crores and NFIA is
(—) % 5 crores , how much will be the

national income ?

o Watch Video Solution



https://dl.doubtnut.com/l/_098qkjNuLHTL
https://dl.doubtnut.com/l/_yHeWLzhdO08H
https://dl.doubtnut.com/l/_Ey3r7coWcPJZ

7. If the domestic factor income is ¥ 200 crores
and the national income is ¥ 190 crores , how
much will be the net factor income from

abroad ?

° View Text Solution

8. In which type of economy, domestic income

will be equal to national income ?

o View Text Solution



https://dl.doubtnut.com/l/_Ey3r7coWcPJZ
https://dl.doubtnut.com/l/_JSLj80tqjYx3
https://dl.doubtnut.com/l/_RFwX8Z7uaD1S

9. Define national income..

OR Define national product .

o View Text Solution

Short Answer Type Questions

1. Define the following terms : (i) GDPyp , (ii)

NDPy , (iii) NPy p

° View Text Solution



https://dl.doubtnut.com/l/_Ep5duR8th0gt
https://dl.doubtnut.com/l/_6N7UbYXe6pxc
https://dl.doubtnut.com/l/_WrgEZmU4yosh

2. When can domestic product be more than

national product ?

o View Text Solution

3. Distinguish between Gross Domestic

Product at Market Price and National Income.

° View Text Solution



https://dl.doubtnut.com/l/_WrgEZmU4yosh
https://dl.doubtnut.com/l/_QhHAnDpSZOKV

4. Distinguish between domestic product and

national product .

o View Text Solution

5. Is it necessary that Domestic Income is

always less than National Income .

o View Text Solution

Long Answer Type Questions


https://dl.doubtnut.com/l/_YqN3Qhxs3i7n
https://dl.doubtnut.com/l/_Njl5yZHgOLyQ
https://dl.doubtnut.com/l/_EnXRgsLlNx4g

1. Distinguish between the following , giving
suitable examples in support of your answer :

(a) Domestic product and national product .

° View Text Solution

2. Discuss the concepts of : (i) NDP at MP, (ii)

GNP at FC and (iii) GDP at MP.

o View Text Solution

Unsolved Practicals



https://dl.doubtnut.com/l/_EnXRgsLlNx4g
https://dl.doubtnut.com/l/_1RxDAbFva41V

1. Calculate GNP at FC.

Particulars ~ | Zincrores

i () NDPatMP 80,000
{#) Net Factor income from abroad -200
\hi) Deprematlon 4,950
(iv) Subsidies - . 1,770
{v) Indirect Tax 10,600

o Watch Video Solution

2. Calculate the Domestic Income..

[ () iroao nanonak produnt at rnarket price 58,350
i (i) Indirect Tax 2,590
i iy Sutmidies 1,540
% (1) Degreciation 1,625
; l /)t F‘ MK ({{ﬂ(ﬁ: froan abroadd ~240

l o Watch Video Solution


https://dl.doubtnut.com/l/_IRSYFQ7RcE6e
https://dl.doubtnut.com/l/_Bh6yNVcA3iWI

3. Calculate National Income or NNP at FC..

Part/cU/a}éw o _Nmncror
() GDPatMP | 4,800
(i) Indiroct Taxas 300
- (i) Net t actor income from abroad 80
(iv)  Consumption of Fixed Capital ’ 200
(v) Subsidios 60

o Watch Video Solution

4. Calculate GDP at MP .

;Panic&)ars §?m ;:;ores .
i () National Income | 6,700
(i) Consumption of Fixed Capital 180

(iii) Factor income from abroad | 100 |


https://dl.doubtnut.com/l/_Bh6yNVcA3iWI
https://dl.doubtnut.com/l/_ylfEBpL9YYo7
https://dl.doubtnut.com/l/_AgMmMicOjH1k

(iv) Indirect Taxes

130 |
(v) Subsidies 70 ‘\
(vi) Factor income to abroad 150 \

anp

° Watch Video Solution

5. Calculate Domestic Income..

; ¢+ <incrores
Y E——— 5750
(1) Indirect Taxes i 60
(iii) Factor income from abroad 3 150
(iv) Factor income to abroad ; 180 |
(v) Replacement of Fixed Capital i 150 “

° Watch Video Solution



https://dl.doubtnut.com/l/_AgMmMicOjH1k
https://dl.doubtnut.com/l/_yokfV5Aus0cq

6. Calculate (a) Domestic Income , (b) National

Income.

Partioulars
R R
() Indirect Tuxes
(i)  Faotor Income from bruad
(Iv) Consumption of Fixed Capltal
(v) Fagtor Income to abroad

(v). Subsides

Pinuroran i
/0,00
6,200
800
3,100
300

4,000

(a) 65,850 Crore:.

o Watch Video Solution

7. Calculate Indirect Taxes from the following

data:


https://dl.doubtnut.com/l/_e0TKy0wbp63r
https://dl.doubtnut.com/l/_CDpZ8IEI0DMD

[ Particulars | Tincreres

g(l) NDP at FC o ‘»\'7"5»5'915
i (i) Subsidies ' 1,540
| (i) Facter income from abroad . e
f (iv) Consumption of Fixed Capital g 1,625 |
g (v) Factor income to abroad is 865
[ (vi) GNP at MP | 58350

o Watch Video Solution

8. Calculate Factor Income to abroad.

[ Particulars = (e s v | Zincrores |
(i) Subsidies 3 80
(i) Factor income from abroad 400
(iv) Depreciation _ % 480 \
(v) Indirect Taxes 100 \
(vi) NDP atMP K 3700 |

o Watch Video Solution



https://dl.doubtnut.com/l/_CDpZ8IEI0DMD
https://dl.doubtnut.com/l/_QTmR66psQcIB
https://dl.doubtnut.com/l/_BT1NVU7Llf5s

9. Calculate Depreciation :

Particuars | =merores |
(i) NDP at MP 80,000
(i) Indirect Taxes : 10,600
(ii) GNP atFC - 75,920
(iv) Factor Income to abroad Sl 78
(v)‘ Factor income from abroad 500
(vi) Subsidies S 1770

B

o Watch Video Solution

10. Calculate Subsidies .

Particulars #in creres ]
() GDPatFC 55,000 |
(1) Indirect Taxes ) 4,400
(iiiy Factor Income to abroad v , 600
(iv) NNPattMP 55,500 \
(v) Factor income from abroad 1,300
(vi) Depreciation 2,500 SJ
uel

o Watch Video Solution



https://dl.doubtnut.com/l/_BT1NVU7Llf5s
https://dl.doubtnut.com/l/_AXYpjC2SwENE

11. Gross National Product at market prices of
an economy is ¥ 65, 000 crores . The capital
stock of the economy is valued at ¥ 1, 20, 000
crores , which depreciates at the rate of 10 %
per annum . Indirect taxes amount to ¥ 6, 000
crores and subsidies amount to ¥ 1, 000 crores

. Estimate National Income of the economy.

o Watch Video Solution



https://dl.doubtnut.com/l/_AXYpjC2SwENE
https://dl.doubtnut.com/l/_G8IOYUo9PBph

